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Midterm 1

Please print your name and student ID in the designated space at the top of
the page. Show your work! Answers unsupported by work yield no credit.
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Problem 1 15 pts @

Use the symmetry of the problem to find the integral

//( w2+y2+5>dA

over the domain D = [—5,5] X [-2,2]. b




Problem 2

20 pts
The dOma,in D
: 2,10 x [2,7] is partitioned as shown on the picture below.
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e Use the lower-right vertices of the sub-rectangles of P to find the Riemann
sum S3 3 for the following integral.
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Hint:

sketching the domain helps.
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Problem 4

Compute the average value f of the function
f(z,y,2) = 6y
over the 3D region W described by the following inequalities.
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Problem 5 15 pts

Sketch the curve given by the following equation.

Pk
"~ cos 20
Hint: use the identity cos26 = cos? — sin®§ to switch to rectangular coor-

dinates.
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Problem 7 — Extra credit! P

Find the volume V, of 5

: er
‘ 4-dimensional sphere of radius R. The answ
Without the derivation yiel

ds no credit.
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